
ITEM DESCRIPTION CATALOG NO.

1 Cover - Half - Circular Cover Side 916200

2 Cover - Half - Rotor Side 916100

3 Cover - Circular - Small 910400

4 Quick Coupler Bracket ST-BKT-QCV

ST-243636-B
FIBERGLASS / PCX POLYMER

CONCRETE ASSEMBLY

LOAD RATINGS

FEATURES:

   Additional product information
   continued on the reverse

 1
1 2

" 

 4
3 16

" 

 45° 

 3
4 " 

 34 " 

 3
1 8

"  90° 

 6.5° 

 3 5
8 " 

SIDE VIEW

TYP.

 1
3 8

" 

 3
" 

 4
"  3

" 

 1
4 " 

 
1

7 8
" 

7/16" HOLES FOR 
3/8" CLAMP BOLTS

1/8" x 1 1/2" STEEL F.B.
10 GA. STEEL

BOTTOM VIEW
3/8" STEEL NUTS, 2 REQ.

TYP.

NOTES:
H.D. GALVANIZE AFTER FABRICATION.1.
INCLUDES (2) 3/8" x 1 1/2" S.S. HEX BOLTS FOR CLAMP AND (2) 3/8" x 2" S.S. HEX BOLTS FOR MOUNTING.2.

CREATED: Friday, April 16, 2021 9:28:55 AM

QUICK COUPLER BRACKET FOR ST VAULT

SHEET 1 OF 1
DIMENSIONS ARE IN INCHES
DO  NOT  SCALE  DRAWING SCALE:1:2

REV: A
PART NUMBER

N/A

W:\Archive\Pipeline Products\Misc\HUNTER\ST VAULT QUICK COUPLER BRACKET

CUSTOM FABRICATED ITEM
PLEASE CHECK ALL DETAILS
CAREFULLY.  ITEM IS  NON-

RETURNABLE AND CANNOT BE
CANCELED ONCE PLACED INTO

PRODUCTION.

DRW: CH

LAST SAVED: Friday, April 16, 2021 10:10:50 AM

APPROVED BY
X                                                

DATE:                                        

29

①

②

③

④

ST SYSTEMS

ST-243636-B VAULT


	ROTORS
	PGJ-00: Gear-Driven Rotor
	PGJ-04, 06, 12: Gear-Driven Rotor
	SRM-04, PGM-04, 06, 12: Gear-Driven Rotor (before January 2021)
	SRM-04: Gear-Driven Rotor (AFTER January 2021)
	PGP®-ADJ: Gear-Driven Rotor
	PGP-ATR: Gear-Driven Rotor
	PGP-00: Gear-Driven Rotor
	PGP-00-PRB: Gear-Driven Rotor
	PGP-04 Ultra, PGP-06 ULTRA, PGP-12 CV Ultra: Gear-Driven Rotor
	PGP-04-PRB Ultra: Gear-Driven Rotor
	I-20-00: Gear-Driven Rotor
	I-20-00-PRB: Gear-Driven Rotor
	I-20-04, I-20-06, I-20-12: Gear-Driven Rotor
	I-20-04-PRB, I-20-06-PRB: Gear-Driven Rotor
	I-25-04, 06: Gear-Driven Rotor
	I-40-04, 06: Gear-Driven Rotor
	I-50-06: Gear-Driven Rotor
	I-60: Gear-Driven Rotor
	I-80: Gear-Driven Rotor
	I-90: Gear-Driven Rotor

	ST SYSTEMS
	ST-90: Gear-Driven Rotor
	STG-900: Gear-Driven Rotor
	ST-1600-HSB: Pop-Up & Gear Drive
	ST-1700V: Valve-in-Head Pop-Up & Gear Drive
	ST-173026-B Vault
	ST-243636-B Vault

	Nozzles
	MP Rotator® and Spray Nozzles

	SPRAYS
	PSU-02, 04, 06: PS Ultra Spray Sprinkler
	PROS-02, 03, 04, 06, 12: Pro-Spray® Sprinkler
	PRS30-04, 06, 12: Pro-Spray Pressure-Regulated Spray Bodies
	PRS40-04CV, 06CV, 12CV: Pro-Spray Pressure-Regulated Spray Bodies

	VALVES
	SRV: Plastic Valve
	PGV-ASV: Plastic Valve, 6-Bolt Bonnet Design
	PGV-ASV: Plastic Valve, 4-Bolt Bonnet Design
	PGV-100G, 101G: Plastic Valve
	PGV Jar-Top: Plastic Valve
	PGV-100A, 101A: Plastic Valve
	PGV-151, 201: Plastic Valve
	HPV: Plastic Valve
	ICV-101G: Plastic Valve
	ICV-151G & 201G: Plastic Valve
	ICV-301: Plastic Valve
	IBV-101G: Brass Valve
	IBV-151G & IBV-201G: Brass Valves
	IBV-301G: Brass Valve

	MICRO IRRIGATION
	ICZ-151: Drip Control Zone Kit
	PCZ-101: Drip Control Zone Kit
	PCZ-101: Drip Control Zone Kit (Before January 2014)
	ACZ-075: Drip Control Zone Kit
	ACZ-075: Drip Control Zone Kit (Before January 2014)
	ICZ-101: Drip Control Zone Kit
	ICZ-101-LF: Drip Control Zone Kit

	QUICK COUPLER VALVES 
	HQ3RC: Quick Coupler Valve
	HQ33RC, HQ33LRC, HQ33LRCR: Quick Coupler Valve
	HQ44RC, HQ44LRC, HQ44LRCR: Quick Coupler Valve
	HQ44RCAW, HQ44LRCAW, HQ44LRCAWR: Quick Coupler Valve
	HQ5RC, HQ5LRC, HQ5LRCR: Quick Coupler Valve

	STANDARD CONTROLLERS
	X2TM: Wi-Fi Capable Outdoor Mount Controller
	X-Core®: Indoor/Outdoor Mount Controller
	Pro-C® and PCC: Indoor/Outdoor Mount Controller
	ICC: Plastic Cabinet
	ICC: Metal Cabinet
	ICC Plastic Pedestal
	I-Core®: Plastic Cabinet
	I-Core: Metal Cabinet
	I-Core: Plastic Pedestal

	HYDRAWISE® CONTROLLERS
	HC: Wi-Fi Controller
	HPC: Wi-Fi Controller
	Pro-HC: Wi-Fi Controller
	HCC: Wi-Fi Controller, Plastic Cabinet
	HCC: Wi-Fi Controller, Metal Cabinet

	CENTRALUSTM  CONTROLLERS
	ICC2: Plastic Cabinet
	ICC2: Metal Cabinet
	ACC2 Decoder Replacement Parts A2C-75D-M, A2C-75D-P
	ACC2 Conventional Replacement Parts (A2C-1200-M, A2C-1200-P)
	Plastic Pedestal (2017 to Present)

	IMMSTM ONLINE CONTROLLERS
	ACC: Pedestal Controller
	ACC: Wall-Mount Controller
	Communications Modules and Parts
	IMMS-CCC: Irrigation Management and Monitoring System
	IMMS-SI: Irrigation Management and Monitoring System
	IMMS-CI: Irrigation Management and Monitoring System

	DECODERS AND ACCESSORIES
	ICD-HP Components
	IDS: Plastic Pedestal
	IDS: Controller Components 
	ROAM: Remote Control Unit
	ROAM XL: Remote Control Unit
	PSR: Pump Start Relay
	PSR-B: Pump Start Relay Booster

	BATTERY-POWERED CONTROLLERS 
	NODE: Battery-Powered Controller
	NODE-BT: Bluetooth® Battery-Powered Controller
	XC Hybrid: Mounted Battery-Powered Plastic Controller
	XC Hybrid: Mounted Battery-Powered Stainless Steel Controller

	SENSORS
	Mini-CliK®: Rain Sensor
	Wired Rain-Clik®: Rain Sensor
	Wireless Rain-Clik: Rain Sensor
	Solar Sync®: ET Sensor
	ET System

	Accessories
	Statement of Warranty

